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Jeopardy

Introduction

This lesson covers all of the material (except ruler and compass constructions) that we have

went through this term. We will be working in groups to complete these problems in a

Jeopardy style game.

Questions will vary in difficulty with $100 questions tending to be the easiest, and $500

questions tending to be the hardest. Do your best, good luck, and have fun!

Complex Numbers

$100 i2

−1

$200 (2 + 2i) + (3− i)

5 + i

$300 (4− 6i)− (5− 2i)

−1 + 8i

$400 (10 + 7i)× (6 + 3i)

39 + 72i

$500 (−7 + 3i)÷ (4 + 5i)

−13

41
− 47

41
i

Exponents

$100 82 No calculators

64

1



$200 5−2 No calculators
1

25
= 0.04

$300 3
√
−27 No calculators

−3

$400 (34)
1
2 No calculators

9

$500 How much money will be in your account in 5 years if you start with $10000 and it is

compounded daily at 3%?

$11618.27

Pythagorean Theorem

$100 What is the Pythagorean Theorem?

a2 + b2 = c2

$200 What is the length of the missing side?

9

$300 What is the Manhattan distance between (-2,3) and (1,-2)?

8

$400 What is the distance between (4,1,-3) and (-5,6,-1)? Leave your answer as a square

root.
√

110
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$500 In the diagram, AB = 13cm, DC = 20cm, and AD = 5cm. What is the length of AC

to the nearest tenth of a centimeter?

24.2 cm

Inequalities

$100 3x > 12

x > 4

$200 3 < 7− 4x

x < 1

$300 |3x + 4| < 10

−14

3
< x < 2

$400 −6 <
3x + 6

2
< 6

−6 < x < 2

$500 3 < |7− 4x|

x >
5

2
or x < 1

Cryptography

$100 Decrypt 1005151601180425

JEOPARDY
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$200 Which cipher is the correct one to use when decrypting the following?

A

B

B

$300 Using a Caesar Cipher with a key number of 4, encrypt Math Circles.

IWPD YENYHAO

$400 Using a Polybius Square, decrypt the following:

3511421131311531153524351514

PARALLELEPIPED

$500 Using the keyword MATH and the Word Shift Cipher, encrypt the phrase LAST

WEEK.

YBMB JFYS

Gauss

$100

(A) 1191

$200

(C) 9
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$300

(A) $560

$400

(A) A discount of 20%

$500

(B) 10 000
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